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1.
ANS:


	a.
	$12

	b.
	50

	c.
	$15

	d.
	30

	e.
	$250

	f.
	$122.50

	g.
	$250

	h.
	$422.50

	i.
	$500

	j.
	$545

	k.
	$45


PTS:
1
DIF:
2
REF:
9-2
NAT:
Analytic

LOC:
Gains from trade, specialization and trade

TOP:
Exports | Economic welfare

MSC:
Applicative

2.
ANS:


	a.
	$6, 84

	b.
	66

	c.
	44

	d.
	$384

	e.
	$294

	f.
	$45

	g.
	$80

	h.
	$44

	i.
	$11


PTS:
1
DIF:
2
REF:
9-2
NAT:
Analytic

LOC:
Gains from trade, specialization and trade

TOP:
Tariffs | Economic welfare

MSC:
Applicative

3.
ANS:


Both the import quota and the tariff raise the domestic price of the good, reduce the welfare of domestic consumers, increase the welfare of domestic producers, and cause deadweight losses. The only difference for the economy is that the tariff raises revenue for the government, while the import quota creates surplus for license holders.
PTS:
1
DIF:
2
REF:
9-2
NAT:
Analytic

LOC:
Gains from trade, specialization and trade

TOP:
Tariffs | Import quotas

MSC:
Interpretive

